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The term ‘network topology’ describes how a computer network is arranged.

2

Give the name of one network topology.

Screen layouts are to be designed for a new on-line cinema booking system.

Bank card number, date of performance and customer name are three items of data that should

be included on an input screen.
(a) Produce a design for the input screen in the area below.

Marks will be awarded for:

including appropriate items

user friendly design
clear layout.

The Ocean Cinema
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(b) Give two validation checks that could be used to make sure the data entered is reasonable.
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A company that uses the Internet stores confidential data on its computer system.
Describe three methods that could be used to prevent unauthorised access to the data.
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A company installs a new computer system. At 9.00am on Monday the old system is switched off
and the new system is put into use.

(@) What name is give to this method of changeover?

.............................................................................................................................................. 1]
(b) State two problems that may arise as a result of using this method of changeover.

(0] o] 1= o o T ISP PUORRUURPPRRPORt

e £0] 0] = o 0 2SR

.............................................................................................................................................. [2]
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4
(@) Describe how an expert system is used by a mechanic to diagnose faults in a car.
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6  Acarmanufacturer recalls a number of faulty cars. The manufacturer decides to use the mailmerge
option in a word processor to prepare letters to customers.

(a) Describe how the manufacturer uses mailmerge to prepare the letters.

.............................................................................................................................................. (4]
(b) Give two advantages of using mailmerge for this task.
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.............................................................................................................................................. [2]
7 State two actions that the Computer Misuse Act makes illegal.
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..................................................................................................................................................... [2]

© OCR 2007 [Turn over



8

6
Text 1 shows part of a novel handwritten by an author.

The Adventure
It was raining as she stormed, out of the house and slammed the door
behind her. There was nothing for it, she had made her bed and
would now hawe to-lie inv it. She couldn't go-back and apologise - well
not just yet anyway. A flash of lightning Uit up the stireet as she set off
hoping she would find some shelter. Thesw her mind registered what
she had seenv invthe brightiness. It was av mow inv awrmowr sitting astride
a huge wawr horsel

Text 1

Text 2 shows the same text after a secretary has typed it into a word processor.

The Adventure

It was reigning as she stormed out of the house and slammed the door behind her.
Their was nothing four it, she had made her bed and wood now hvae to lie in it.
She couldn’t go back and apologise — well not just yet anyway. A flash of lightning
lit up the street as she set off hopping she would find some shelter. Then her mind
registered what she had seen in the brightness. It was a man in armur sitting
astride a huge war horse!

Text 2

(a) What should the secretary have done before printing out the work to make sure that the two
underlined words were correct?

(b) The secretary should have verified the word-processed work.

Describe how the secretary could have verified the work.
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9 Robots are used to explore the surface of distant planets.

Discuss the advantages and disadvantages of using robots instead of sending a manned mission.
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10 With the advances in the use of ICT many people can now work from home.

Describe three advantages to an employee of working from home.
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11 An increasing number of business meetings are held using video conferencing instead of face-to-
face meetings.

Discuss the benefits and drawbacks of holding meetings by video conference.
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12 Visually impaired and hearing impaired students often use multimedia presentations in their
lessons.

Explain why using multimedia presentations is a benefit to these students.
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